
Solution 
here

How can I decarbonise? 

Biking instead of driving for distances <5km 

Train instead of plane for vacation

From diesel to electric car

MOBILITY

Train instead of car for commuting

Carpool

HOUSING

Line dry clothes

Unplug appliances

Switch to heat pump

Turn off lights

Improve insulation

Switch to vegetarian diet

Stop food waste

Buy in bulk/package-free

FOOD

Buy organic

Eat local

Reduce video gaming

Buy 50% fewer clothes 

Buy second-hand for 1/3 of stuff

Reduce movie streaming

CONSUMPTION 

Double the lifetime of smartphone

towards decarbonisation
What is the impact of different decarbonisation actions?

Use the labels below to identify the overall categories and subcategories of 
decarbonisation actions and write them on the dotted lines on the next page. 
You need to put them in the correct order.
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